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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['1I", "lopt’], ['T, "Topt’], ['RH', 'RHopt'], ['ETcl’, 'optETcl’], 'LAl', ’optEtRate’]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-10_0

Warning: col ['minFVlraw|,

"minFVOraw' ] is missing

minFVI
minFVO

: col ['ETcA2raw',| 'E

o ETcAlraw
—  ETcA1
—@— ETcA

TcA2' ]

is mi

Warning: col [ ETcA2raw’, 'E

TcA2avg' , 'ETcA2' ] missing

0.0

5000

4500

4000

3500 -

3000 -

2500 -

2000 -

1500

“--————

Warning:——colt—["ECC ] s miss

—@— ECopt
—0— ECI
—0— ECO

r albea

ing

[’ PHC' ]

rnling: col is miss

ing

31.

31.

30.

30.

29.

29.

28.5 -

Warning: col ['WCperMraw',

"WCperMavg' ] is missing

—@— WCperM

——
+
——

minDeltaM
avgDeltaM
stdDeltaM

30 A

28 A

26 A

24

22 -

20 A

adjFVOR

.02 ~

. 04

Warning: col ["adjFVIRraw’,

"adjFVIR", "adjFVORraw' ] is missing

0. 65 -

0. 60 -

0. 55

0. 50

0.45

0. 40

0. 35 A

0. 30 -

0. 25 -

o ©
[
FRA P
FRC
FRraw
FR ®

60

59 ~

58

57 A

56

55 A

—@— beg wc

15 20 25 30 35 40

160 -

140

120

100

80 A

60

40 -

20 -

®
—Q—
—Q—

postFgEtraw
postFgEtavg
postFgEt




R — = a4 amm a a—a
COX®NDOAEW®N = O©

O NSOk =O

O OO0 0O 0000000000000 OoO OO OO oo

4]

FgDai ly




P3-10_0




ESo ETclis ETcPT ETcP ETcldef ETcl

1.0
0.8
0.6
o 0.4
-
w
- -0.2
o
-
w
-0.0
o
o]
--0.2
a
a
>
)
-0.4
=
=
-0.6
L _
a
a
[

ETcI ETcIdef ETcP ETcPT ETC|IS ESo ETol ETbal pR pVPD PPFD T RH



ETcl

350 -

300 -

250 ~

200 ~

150 A

100 ~

50 A

1600 ~

1400 -

1200 -

1000 -

800 -

600

400 -

[CJ

o
o 0

20 A

18

16

14

12 -

9

70 -

60 -

RH

VN

50 -

40 -

400 A

300 -

200 -

100 ~

400 ~

350 -

300 -

250 -

200 -

150 ~

100 ~

50 A

S0%

T
200
ETcl

T
300

500

T
1000
ETol

T
1500

12.5

T
15.0

T
17.5
T

20.0

40 50 60
RH

70

T
0 100

T T T
200 300 400

VN

100

200

300 400



700 -

600 -

500

400 @

300

200

100 -

® obs
Fit

50

100 150

baiA

baiB

1.0

0. 3498

0. 001

0.8

0.6

0.4 -

0.2 -

0.0

0.0

0.2

0.4

0.6 0.8

1.

0

obs

400 -

350 -

300 -

250 ~

200 -

150 -

100

50 -

Fit vs obs: a=0.67, b=55.38

r=0. 38

1.0

150

200

0.8 -

0.6

0.4 -

0.2 -

0.0

0.0

0.2

0.4 0.6 0.8

1.

0



hour

100

:05
105
80
:05
:00 - 60
:55
:55 - 40
:55
20
:55
:05
1 1 I I I I I -0
& & & B & % S
é§¥ & %ﬁ» & & 4? %;5 %gr



P3-10

BTiE) | EBIATK (FD) | EME (EH/HK) | XKR ERE

07:05 109 50.0 5 FiH@07:05 (KRFERHE)
08:05 109 50.0 RS FnHA@08:05 (KRFI{ERLEE)
09:05 109 50.0 i FEA@09:05 (K FHIERES)
10:00 109 50.0 iS5 FiH#A@10:00 (RFERHE)
10:55 109 50.0 i FEA@10:55 (KR AIERSE)
11:55 109 50.0 i FEA@11:55 (KRPIERSE)
12:55 109 50.0 5 FiHfe12:55 (RFAERE)
13:55 109 50.0 5 FnHRe13:55 (RFEERES)
15:05 109 50. 0 i FnHfe15:05 (REERSS)
23t 981.0 (9%) 450. 0 3233 KEC: 1840.0, PH: 6.0

REREBIEC (2535.0) HiZEEC (2000.0) REI KA, BHEE

HEERECE (2535.0 vs 3315.0) RS




FRV (ml plant-1)

ET (ml/hr/plant)

P3-10_0, Day=21 (2025-04-23)

V1, VG8ERV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET L 600

420

0.6 50 - 400 2
292
0.4
140 - 200 &
0.2 ~ I
00 00
0.0 Lo
4

-1)

V (m

TargetEC=2300. 0,  TargetSetEC=1840.0

TargetPH=6. 5, TargetSetPH=6.0

0.2 -
908 1

150 A

600

- 400

I
I
I
ByWoFv @D21 93:07: ET=292 Fg=450.0 Ro=81.0 —©
100 A :
I
I

- 200

cumET (ml/plant)

50 p—o—o—oa—9
1
al

1.0

0.8 -

0.6 1

0.4+

0.2~

800 {
600 -

400 ~

200 -

0 \ A A Warhing:,‘:ol [Al

, 'PPFD_obs’] is missing

25 -

20 -

15 4

. lcol ['T_obs/ o obs'] is missing

80 4

60 -

40 4 =—— RH —Warning: col ['RH_obs’,"RHo_obs’ ] s missi

0.0 0.2 0.4 0.6 0.8 1.0



hour

100

80

:10

- 60
:20
125

- 40

:30

§_

140
:55

I I I I I I I

(PR, SN S . R
5 QS S R 2 3
FEFFIFITFFETF S

T

o
-



P3-10

RTiE) | EBIATK (7)) | EBE (EH/HK) | XKR SRR

06:15 180 50.0 BE| {Ri&e06:15 Fz (REAEHE)
07:20 180 50. 0 RS {Ri%@07:20 Fzi (REAEESE)
09:10 180 50.0 B {Ri&@09:10 Fzn (REAEESE)
10:20 180 50. 0 B 1Ri%e10:20 Fzh (REEESER)
11:25 180 50.0 RS Ri&e11:25 Fzi (REAERESR)
12:30 180 50.0 Bl Rige12:30 Fzi (REEEE)
13:40 180 50.0 B 1Rige13:40 Fzh (REEESE)
14:55 180 50. 0 BS| 1Ri%e14:55 Fzh CGREAEESE)
23t 1440.0 (8%) 400.0 32033 KEC: 1840.0, PH: 5.8

TERRHEBR 2 STEEART (117.0 :

PRIASLPRIERE81. 0 ml.
MR i Bl RECE IR fR 5k .

81.0), AIREAT—AE XAHE
LRGEREE (180) 578 (111. 0) FF, FIREH T & MG EIRS £ XER

REREMEC (2465.0) 5i%EEC (2000.0) REL KA, B/E

[ ECE (2465. 0 vs 3465.0) s
RE R EBL I HEREC/PHERRR, ATRER

M5B R 3R




P3-10_0, Day=20 (2025-04-22)
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